
SAP ABAP table T8JXC {Cross company account determination}

T8JXC

MANDT [CLNT (3)]

RBUKRS [CHAR (4)]

PBUKRS [CHAR (4)]

CREDIT_ACCOUNT [CHAR (10)]

DEBIT_ACCOUNT [CHAR (10)]

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]

 T8JXC-CREDIT_ACCOUNT = SKB1-SAKNR 
0..N

0..N  T8JXC-DEBIT_ACCOUNT = SKB1-SAKNR 0..N

0..N
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 T8JXC-PBUKRS = T001-BUKRS 

0..N
0..N

T8JXCP

MANDT [CLNT (3)]

RBUKRS [CHAR (4)]

 T8JXC-RBUKRS = T8JXCP-RBUKRS 

0..N

0..N


